o FEHka R

(-)®BEELBEEFEIHE

g\ﬂ%ﬁ}iﬂ‘?“é# KER27,041 2= > H P ouw gk 3 BX1T, 008
5 A

o b Bz 61.94 %E 5 oo “H 4,565 %} B#c2 16,54 %=
2o 5= A B AER2 580 % & \9 37/°(s’1rz\9\1‘z\10)
B20 ~ F B Lﬁ‘ﬁi i 1 AR—EERER
18,0002 ) 12&1964%27
15,000 -
12,000
9,000 +
6,000 ~
3,000 +
=1
: F & % % R A %
A 7 +a & @ i % %
voB OB OB OB B 4

(Z)®REPRaEi

A @31964I BRGERRER436,407T % > H P ou g g BR223,282 0 ¢
§ B2 51.16% 8 5 - B A RR114, 1692 = A48z 26, 16%=% 2 > %
Z 543 749,088 % } Mz 11.36% (4-% 921~ £10)

y}ﬁ“ l—g’/\?‘ J\#" \g\? J‘%/é’ﬂ)J—%J ’}%E";F“—n ’96-/&&?\75‘#&’]\
EEna3b6a 2 o HY wEAREATIN 2§ B #c2 20.01% % 5 o £ ¢
6= 2§ A ¥z 18, 26%=k 2. > F51 BAOT o 2k B2 16.01% - (4% 9
2.1~ 410)

B21 ~ % ¥ Rz fa—-REe

2402000 ‘96&&

200,000

160,000

120,000

80,000

40,000
0 = = > =
£+ 0 s 4+ 3 B 3 4+ 4 3
CAR IR S S G - S
BB OB M ORoEBm o3 03 33



W22 ~ ®EFP-RAE D AL

80 FF 2 K96 A&
70 - N
N
\ :
60 - 5 N
A ) N
N | \
50 N R N
N \
N A \
0r N A \
N N |
30 - N N \
N R \
\ N MR \
2 Na NN MR \
AN BN \
107 AR RN N
NSRS SR 3 Y
(o <N NSNS N N SN e & N
Tyt y b4 s 2 54 BB ANE 4
A AR Rtk s A EPR S s
BhOBROBROBLOBAORR ORR OBA BY OBL OEL OBLOBA OBA OBR R B B B
(Z)®REBERFE LA
AKI6E BB s KE116,333 2 ¢ 0 B P g s 35,482

¢ oA dicz 30050 %E 5o 50 BR22,621 o ® 4 Az 19.45% % 2

P B2 AR ARRS, 2020 % Az 11.39% 0 (e 921~ £10)

Bl23 ~ WK Ao 1 A2 KR
HI6E A

35,000 |-

30,000
25,000 -

20,000

15,000 -

10,000

5,000

7”“}}9’]?]1’1%

BhORR R OBR ORR ORR

l’
3
B

BhORR OBROBR

/‘EI";k /‘EI";k 7T

(E)THPRLD 2B A

- —_— NN e A e YN A v - 4A ann N - 2t 1 N e

20



EY @]96& E: KB E RIS RRE41,398 0 % 0 H Yo E KRR
21,936 =~ = | % ﬁv 52.99% & % - B L Bi5, 716 = = [} i #cZ
13.81%% 2. » % = 5 % 3 5:5,040= = & %82 12.17% ° (40 & 92
1~ #10)

Bl24 ~ B3R 2 2 302 1 47—PEREL

22,080, N TTES
20,000

18,000
16,000
14,000
12,000
10,000
8,000
6,000
4,000
2,000
0

e \!

R i‘%%%%fié%%
A= s 2 L Z X
ol 2N R T AE 2 2 L KB P R
BhORR OB ORR OBRORR OB ORR ORR OBR ORR OB ORR W OB W

\

1‘

()% #

7:'

SR W

‘2\192]96 BRORE LA RRERTY, 0790 > HY ut s
F:13, 879 = = J Wl 17.50%3 % » £ & EK13,T40 2 = § B2
17.38%% 2 » % = 5 2 +-B413,064 == F A #c2 17.10% - (4r% 9
2.2~ %10)

-rsn'\

15,000 ¢
12,500
10,000
7,500
5,000

2,500

0 B dE dmidE - |- P £4 &
o, DL A - . -
Pt are ot e 2 E 4 B &1»&"5’&%%%
AR E PR R 2L EPR Y K2
BeoBRORR OBR ORRORROER ORR ORL ORR OER ng% NS N S B A

21



